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This week’s Daf is dedicated as a
Zechus for a Refuah Shelaima for
Shmuel Yaakov ben Eta Zlata

B'soch She'or Cholei Yisroel

CHAGIGAH DAF '1

1. The X na discusses the criteria for establishing someone as a nuiIw. According to Xain 21, he needs to do three
things which indicate a given state of mind at the same time. We then compare this to an ox who gores three
different animals the same day (a cow, donkey, and camel) and becomes a -Tvin for all three, so too in the case of
a nLIV. But these are really very different issues. In the case of the ox all we need to show is that he is not afraid
of different types of animals, but how does that compare to establishing that someone is a nVI¥, which indicates
a state of mind?

2. The ninnn XN defines someone who loses what he is given as a nVIY, and our Xna says that if Xa1in 2N
would have known about this Xn™2, he would have substituted this criteria to his own. The Xna questions
whether he would have replaced all 3 criteria with just one, or if this one would have only replaced the one item
of IN10> NX Yy which is similar to it. If it is only replacing one item, why is it important? what is gained? Since
tearing ones clothing is losing something that has been given to him, isn't it the same?

3. A DIuniv is '8N 11V and the XA says that since he’s a 790 (male or female) it would be exempt and we
don't need a nwWNT to tell us that he is n'&In 11VO. In a similar case of an animal called a 1> whichisa n'n 790
nNN2A 290 it says (N nMiwn 2 719 DDA mawn) that we give it the stringent interpretation of both, for example
one can not eat its 2'7n, or if it is slaughtered its blood must be covered. Why don't we say here, that a nioniv is
obligated since it may be male. (This is especially difficult if we assume that XanIn% XN"INTN XNNINT 790).

4. ..|pT™1 X101 2A'721n'71 1a'nY '1D1 VS D220 220 1IN What type of Xn10 are we talking about? If its someone
who can't see at all, which makes sense in the context of the others listed who can not go up without assistance,

than he should be completely 1109 since a blind person is exempt from ALL nixn?

5. In addition to the above, someone who is blind is n'xn 1109 because of the nwNT of NIxY™? which even applies
to someone who only has one good eye, so why do we need another nwNT?

6. 2"y On the exemption for an 77y from n'X1, Rashi writes that it talking about someone whose brothers died
from n'7'm. Why is this necessary? Would the case be different if he had another reason for being an '11y?

7. If an "My is n'®n 1109 why would we need a seperate nwNT to tell us that an on'anTax is n'8IN 11V9? Since he
obviously did not have a bris, he is still an 'ny?

If you have any comments or suggestions please email me at Ygrunhaus@gmail.com
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